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Time: 30 Minutes Paper Math 4 (T-1) Total Marks: 25

1st Month, 2nd Week, 6th  Day Addition and Subtraction 
Q.No.1. Choose the correct option. (1 x 13 = 13) 
i) The sum of 36 972 and 25 388 is:  25 388  36 972

(a) 56 960 (b) 60 362 (c) 62 360 (d) 65 370

ii) What is the difference of 74 098 and 27 901?  27 901  74 098

(a) 41 107 (b) 43 157 (c) 45 197 (d) 46 197
iii)when we subtract 27 420 from 43 729 we get:

 43 729 27 420

(a) 16 309 (b) 18 409 (c) 19 109 (d) 17 309

iv) In a granary, there are 66 375 bags of wheat and rice. If number of wheat
bags are 44 468 then the number of rice bags are:

 44 468  66 375 
(a) 21 807 (b) 21 707 (c) 21 007 (d) 21 907

v) Tahira had Rs. 35 346. Her friend gave her Rs. 24 345 more. Now she has Rs:

 24 345  35 346 
(a) 59 691 (b) 60 691 (c) 58 690 (d) 57 695

vi) 30 750 + ------------- = 87 906:
(a) 55 156 (b) 56 146 (c) 57 156 (d) 58 166

vii)52 979 - 10 335 = ?:
(a) 42 714 (b) 42 314 (c) 42 644 (d) 42 614

viii) A book has 1 535 pages Sajeela has read 624 pages How many pages are

left to read?  624  1535 
(a) 810 (b) 715 (c) 845 (d) 911

ix) An Aeroplane covers 5 927 km in February and 7 329 km in March. How
much distance it covers in both months?

 7 329  5 972 


(a) 13 255 km  13 255 (b) 13 256 km  13 256

(c) 13 255 km  13 257 (d) 13 255 km  13 258

x) Solution of 70 651 - 43 229 is equal to:  70 651 - 43 229

(a) 21 422 (b) 24 625 (c) 26 022 (d) 27 422

xi) 58 134 + 45 367 = ?

(a) 10 351 (b) 103 501 (c) 105 301 (d) 105 310

xii)What is the sum of 70 853 and 26 689?  26 689  70 853

(a) 79 562 (b) 89 524 (c) 69 662 (d) 97 542

xiii) The difference of 89 076 and 31 524 is:  31 524  89 076

(a) 57 552 (b) 58 152 (c) 56 752 (d) 57 752

Q.No.2. Solve the following. (4 x 2 = 8) 
i) Find the sum of 35 312 and 24 568.  24 568  35 312

_______________________________________________________________________

_______________________________________________________________________

ii) Find the difference 67 453 and 32 514.  32 514  67 453

_______________________________________________________________________

_______________________________________________________________________

(iii) T. Th Th H T O

5 5 6 6 1

- 1 2 2 5 5

(iv) T. Th Th H T O

6 6 1 7 8

+ 2 4 9 1 9

Q.No.3. If there are 66 178 types of vertebrates out which 32 900 types are
fish. How many vertebrates are there other than fish? (1 x 4 = 4)

  32 900  66 178  
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